



$$\bar{x} = x_G = \frac{M_1 x_1 + M_2 x_2}{M_1 + M_2}$$

$$M = M_1 + M_2$$

$$\delta = x_1 - x_2$$

Equações da dinâmica.

$$\dot{\bar{x}} = \frac{u_1 + u_2}{M}$$

$$\ddot{\delta} = -\frac{kM}{M_1 M_2} \delta + \frac{u_1}{M_1} - \frac{u_2}{M_2}$$

$$z = [\bar{x} \quad \delta \quad \dot{\bar{x}} \quad \dot{\delta}]^T \quad e \quad u = [u_1 \quad u_2]^T$$

$$\dot{z} = \bar{A}z + \bar{B}u$$

$$\begin{bmatrix} \dot{\bar{x}} \\ \dot{\delta} \\ \dot{\bar{x}} \\ \dot{\delta} \end{bmatrix} = \underbrace{\begin{bmatrix} 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 1 \\ 0 & 0 & 0 & 0 \\ 0 & -\frac{kM}{M_1 M_2} & 0 & 0 \end{bmatrix}}_{\bar{A}} \begin{bmatrix} \bar{x} \\ \delta \\ \dot{\bar{x}} \\ \dot{\delta} \end{bmatrix} + \underbrace{\begin{bmatrix} 0 & 0 \\ 0 & 0 \\ \frac{1}{M} & \frac{1}{M} \\ \frac{1}{M_1} & -\frac{1}{M_2} \end{bmatrix}}_{\bar{B}} \begin{bmatrix} u_1 \\ u_2 \end{bmatrix}$$

$$y = \bar{C}z: \quad \begin{bmatrix} \bar{x} \\ \delta \end{bmatrix} = \begin{bmatrix} \frac{M_2}{M} & \frac{M_1}{M} \\ 1 & -1 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} \xrightarrow{\text{inversa}} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = \begin{bmatrix} 1 & -\frac{M_2}{M} \\ 1 & \frac{M_1}{M} \end{bmatrix} \begin{bmatrix} \bar{x} \\ \delta \end{bmatrix}$$

$$y = \begin{bmatrix} 1 & -\frac{M_2}{M} & 0 & 0 \\ 1 & \frac{M_1}{M} & 0 & 0 \end{bmatrix} \begin{bmatrix} \bar{x} \\ \delta \\ \dot{\bar{x}} \\ \dot{\delta} \end{bmatrix}$$